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SN S8E
HE: HSEAU(SYS)

£r9l: ol 2yl (Er9): &2
SH-EH . S2(30) - MRAY - BES Ofl & 04 plE<L HRE2

os2(8ZE) 180,812 190,812 A 10,000

-J1s82 9,184 19,184 10,000

03 EHz4ldl 14,600 15,600 A 1,000

OZH=AHI 14,600 15,600 A 1,000

04 WES=EXHI 14,000 15,000 A 1,000

QOusSE2 x| 14,000 15,000 A 1,000

-8=2-9= 7,640 8,640 21,000

J|2ad| 67,785 67,185 600

o=t 67.785 67,185 600

201 LEH23H] 42,070 39,570 2,500

01 AtR2teld] 23,340 20,840 2,500

OJIEt==&HI 2,500 0 2,500

202 O4Hl 22,100 24,000 21,900

IEELE 22,100 24,000 A1,900

O XY (EZE) 22,100 24,000 A 1,900




